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TEST OF REASONING

The type of questions provided in this module é‘re‘on!y illustrative and not exhaustive. In actual
test you may find questions on some or all these types and also questions on the type not
mentioned here. This is a test to see how well you can think and analyse. This module contains
50 questions on reasoning ability. Verbal Reasoning depends upon the ability to understand '
words/directions given in thefquestipns. You should alsé be able to analyse reiatiqnshfps among
the various things expressed ih mﬁgﬁ words. Fufther if you aré’abteto discrihinate the various

aspects expressed through d Ifferent words yau wdl be ab]e tc: adentlfy the correct answer easily.

These questlons are avanlab!e in both Hmdt and Enghsh versmns E

Q1 Ina certa;n code language 'FAVOU R’ is coded as ECURTV and CUSTDM is coded as BWRWNQ. How is
'FOSTER' be coded in the same code Iaﬁguage? e

. 1) QEWRVD

2) EPRVDU L e
3) GQTWFV ™l ™
4) EQRWDVY | |

5) None of those given as op_t‘ib‘r}; L

Solution:
Ui |
F A v (0] W] R G W S 1 0 M
-1 +2 -1 +3 -1 44 -1 +2 1 3 i e
E C ] R T v B W R w N 0]
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F A \Y 0 U R C u S T o] M
1 +2 -1 3 -1 +4 -1 +2 -1 +3 -1 +4
E C U R T V B W R w N Q
Hence, i ’
F =-S5 T E R
a7 1 - H3——1r-—
W v

Q.2 In a certain ccde Eanguage 1 2 3' means 'bnght litt

means 'beautiful lltt!e ﬂcwer Whlch num ral n‘tthat lanfgtj;' 7

i) ==
2) : ,—r

= SR T o = 2R OGS s 6 3 7
bright  hsHe bey tall big bey Beautiful lttle  Flower
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Q.3-7. Read the information given belov«( archl a‘nsweﬂ tI}F quéstlon‘s. il
1 i,

Sixplays A, B,C,D,Eand Fof a famous playwnght were stageti one on each day from Monday to Saturday.
il

It is assumed that no other play was staged on the glven day‘or”a‘ny other day The schedule of the plays was

to be in accordance with the foilowmg e e T

o | M - '
Only three plays were staged between A and E E was not staged on the Iast day of the schedule Cwas staged
immediately after A. B was staged ona day |mmed|ately after the day on Wthh F is staged D was not staged
on any of the days after B. - e '
- Q.3  How many plays were staged before D? .

1) None, asD was staged on Menday
= %} One - iy : -
;— 3} Two = .: = : "T" H‘*”‘M‘ﬂt:mﬁifrie = = i_i ,f
=) Three — = - e e e e s = e

s) Four - = | = T e e . e

QA On whlch cf the followmg days was Play C staged? ‘ i i e i
Al I\.- N i g

= 1) Mﬂnday = “ . h | ‘ \w “‘ I :H H\ i ‘ | \1‘ | U ‘| i Il ' i “ il
?) Wednesday .\ | T m i m ” i m H ‘H “‘\“ H | i ” i ‘ i “ i ‘ i L il e |
3) Thursday A i W
o= = ! b ‘ ‘ HHI “ M‘ H H‘ ‘HU‘ | \ i il gl Wil il |
4) F”dayl N u ‘Ml W T ““H i Wl W
5} Saturday i i i W T T i L H ‘l“‘;“*” Il ““”“‘H“u
| ‘ | ‘M s “““ |
Qs Play D was staged between whl@'afth&fmlldwhw Pa rs o plaw\u | T H
i | | “ I iy ‘
1) CandE | j | ”‘ﬂ; ww Whiwt‘“ I M“ d” | W‘M
L‘” Ean l.'d I | i ‘ l” ‘| M“ ‘ “”‘ ! | “ H i I I ! 1 | 3‘ I il i “ |
3) AandE e M I i il Wl I

4) BandE W W Thil o L
5) CandF i, I W il i

Q.6 Which of the follownm plaw‘ \wns ‘ M L’d IUI| Mondnw
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4) BandE
: 5) CandF
Q.6  Which of the following playsiwars staged on Monday?

1

Wl

2)
3)
4)
5)

R

=)
s
=
=1
=y
%
=
3
=
ES
=
5
8 1
=
=5
>
=2
=
=
2
3
a3

5

(om0 =~ S T =R

Q.7 Whichof the foll ewmg pfays was staged Jmmedlately after play B 2=

1) None cfthcseg;yen as op’ﬁcms *:?_% ;'j—"" —
2) : = =
.3)

I t‘::‘m
|

i

Solution:

Monday Tuesday Wednesday Thursday Friday Saturday
h E D F B A G
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Q.8-12. In each question below are given twn statemems followed by two cdnclusnons numbered l and II. You
have to take the two given statements to be trUe even if théy seem to be at variance from commonly known
facts and then decide which of the given conclusnons Iogncally follows from the two given statements,
disregarding commonly known facts. At ) i W

2 r e s ag

DU 8 P TN S S S O,
e L e I .o‘q-‘-—‘u'.".".c‘.’a‘s'.-'.f.f.".r'g‘-f

Give answer (1) if only conclusion | follows, glve answer (2) if only conclusmn lﬁ follows, give answer (3) if
either | or Il follows; give answer (4) if nelther I nor ! follows and glve answer (5) |f both | and Il follow.

Q.8  Statements: = All pencils are bncks All brlcks aﬁe stopes No stone isa dlamond

Conclusionl: ~ Some stones are penmls Wl g

Conclusionll:  Some dlamonds are brlcks‘ “ WP A

A e s g oa
P e

Qs Statements:  All pencns are bncks AII brlcks are stones No stone isa dlamond
Conclusionl:  All pencils are stones. =~ i i |
Conclusion ll:  No brick is a diamond bl L)

Loy

¢ e nsaa
D e S

0.10 Statements:  Only a few trees are‘horseg.‘ No bi‘ﬁmi"c“is a tree. All trees are desks
il | i i 1

Conclusionl:  No biscuitisa horse. ' | \ A
Conclusion Il: At least some horses are desks i

o

Q.11 Statements:  All tigers are shlps Dnly a few ghlps are, cupboards No GUpboard is a door.

Conclusion I: Nodoorlsashtp ol i
Conclusion Il:  All doorsaret|ger5 " EI T ;Ju‘

0.12 Statements: AII tigers are 5h|p5 Dmly g few shlpﬁ are cmpbqards No cupboard is a door.
Conclusion|: At least some shlp are tigers A
Conclusion Il:  All doors being ships is a possibility it i

Soloation (E-121 Aermbw Wity I i e
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Conclusionl: At least some ShlpS are t@érsw““‘” il W"‘ I Rl

Conclusion II: All doors bemg shlps isa posslba]lw ! ‘

_Sbiuﬁoni&iﬁ):ﬁ\pply Venn Diagram i f

Q.13 Studythe fo]luwmg mformatmn and answer the uestloﬂ il

‘!,‘u‘: o i | 0 IS .‘ I 1
P @ Qmeans P is the sister on ' il =)
P # Q means P is the wife of Q, . !
P, & O means Pis the fa’cher of a- = :‘1
P $ Q means P is the brother of Q. S gl
In which of the follaw;ng expressrons,,‘i’ IS the daughter of A'r‘" . =
2 = = ol i ! o =
Q*A#B&R@S5T ' ‘"“{f f x;“w'wwﬂwW_" .~
~2) A#BERSTOS :T'&~g““w“‘wm L i
= | il A =il | Ll it
3) A#B&R@T$S - ‘-v"“[w”‘ i il it A : ‘(‘" ‘
= o o Il il Il il 2l
743 A;# B& R @5 @ ';' S 3 il L \“‘H‘ Il i il !“ Lol i e . ) A i !‘*””
5) None of these given as optlons i i el LSy Al St i
Gl | IS T i
I " i Tl "
Explanatlars first decode the symiml anti FM&H“ r aHé the arﬁ%‘ngemél“lt il i ! !
Il T L1 Il I L ‘
- il I \h ‘ “.M i I iy A"
= E ’ i e [ H“ It iy il I (HELN L
e ‘ LT ull it
e Ml I LTt L I r ! Il i
| o Ml | ‘M i | L Il i | H”N i A ! Il :
! Ll L o ST ”‘mm i l““w | I
LN L Ly L L “ il
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Q.14 What will come in place of question mark (?) in the given seki‘es based on the English alphabetical
order? ity | Fhy

AZM BYN CXO =t L IDWRY o ]
1) EXa e e
2) EVP * e e R
3) bva B
4) EvVQ = = N il
5) EUQ |

Solution: =
First Letter A —B= 1= C 41 ,

Second Letter Z =1 =Y l-=X71 1 W -
Third Letter M =0 & = p_

Q.15-18. Read each statement carefully and answer the following questions:

Q.15 Which ofil{e:fdliowmg:exﬁressid:hs will be true if the expression S S—f\ifz:é >N<Wis definitely true?

1) vsw = R TR e '
¥
T 3) waB , ‘ Il P
A= = = Sl b Pl R
5) W<s - Ll

solution: S>V=B=N<W
N<S il ‘ |

Q.16  Which of the following symbols should replace the quas"timn'mar”k(?) in the given expression in order
to make expressions 'Q. > B’ as well as ‘R < M’ definitely true?

Q>M?Bz2V=R




i il g ‘ Il | ‘1 il | |
ol R X
o i A
G ‘j Q.iﬁ ” Whlﬂh o[ the followmg symbols should replace the question mark (?) in the given expression in order | “:E
g ‘” to make ewrpssfbns 'a> B‘ as well as ‘R < M’ definitely true? Il Wil
e ! ‘ Il w I ‘ g
e e R G L I | g i i
‘nM‘«~%w‘ qu?ﬂkvwn FLLE R e
‘H‘ ":".“: il I‘ \" M W ‘r*h | | ‘ i I | ‘
h ‘E‘:?‘: s ji 1Ly S ) 1" “‘m / "h | i it il W i
Gl By G
m; ;\HE ”\; il B) | by i | ” | i | i
;‘ :;’}l&‘\ I A) wy I I ol Il "‘ " Il | ‘ ‘ “
[l | | Il ‘ |
tg‘ “‘n: ) 5) Eitﬁers or ¢ 4 e
I :L‘I | I lid
I j Solut‘ﬁon.“a m-‘ ‘k B2 V R J ‘
/ “ Lal 17 ! Whid‘h of the followu~tg symbols should be placed in the blank spaces respectively (in the same prder
a “from left to nght)\in order to complete the given expression in such a manner that makes the expressions 'C
Had > B asuwéll as R < E' definitely true?
N e il e

Solution:C>E=J=P2R = e ==
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=
s
Y
=3
=
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C:’P ‘ e e I w‘” w‘” “I“ 1\ “jl‘ Il

R<E " grry ‘M

Q.18 Which of the following symbuls should be pIaCed m the blank spaces respectively (in the same order
from left to right) in order to complete the gwen expressmn '|n such a manner that makes the expression 'S >
U' as well as 'R::» A' def‘nltelyfaise? L e e

ST R A AR el e e e
1) <<=
2) <==2 e
3) =1 = = =5 T
'4) >,=,=> ' : , :
5) >5=< - =

Solution:S<T=R=U<A = i

Q.19-23. Study the following mformatmn and answer the fullowmg questmns

w' J
P,Q,R,S, T, UandV are seven frlends who study in three“dﬁferent standards namely 10th, 11th and 12th
such that not less than two fnends study in the' same stan‘dard Each fnend alsa has a different favourite
subject namely Biology, Audit, Gujarata, Punjabi Urdu, Law and Chemnstry |

" | Il | | |
P likes Law and studies in the 10th standard Wltl‘] omly one othgwr friend‘ who hkes Punjabi. V studies with two
other friends. Both the friends who study with v l“kﬁ languages (Herg Ianguages include only Urdu, Punjabi
and Gujarati). 5 studies in the 11th standard wngh iny one persc‘m and ciqes not like Audit. T studies with only
one friend. The one wheo likes Biology does not study in 10th or 11th st;andam T'does not like Languages. R

does not like Gujarati, Urdu or /\uu'm qdowa not like Urclu, ' " il |

Q.19  Which combinatipn rmwemnm Tig f;wou‘rita: subject aﬁqi the T?stmrmmprg,#‘ in which he studies?
| I e e i Il i

| | | I I
-t - [N [P I Il Ll il

. -

'y
1
v
»
*a
sty
3
'b

E

*
3
3
3
. -
3
-
*
A
3
v
i
3
s
"
Al
i
1
®
\
*
3
3
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.
*
E
x
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Q.21 Who amangst the following studies in the 12““5tandard? ‘ il

does not hke Gujarati, Urdu or Audit. Q does not like Urdu.

Q.19 Which combination represents T‘s f'a\mﬁm
Il

| I It
1) Audit and 12% Ik ! ;\1“ !
2) Chemistry and 10% Il il gl o ‘j
3) Auditand 11* il “‘W“‘”H‘”‘ “ it [
4) Biology and 12t | “‘\\M“w ”‘f |

5) Chemistry and 12*" i 7 Ll sl L I -
! ““‘ “”‘ H‘E‘H‘ 5““ “ I .“HV“‘ =
Q.20 Which of the-following is V's favourite S‘upjéct? Lol

1) Biology I . : e
2) Audit : | —a i a

3) Punjabi .
.4) Gujarati : : L
5) Urdu : ! :‘7‘:“1},\ i 'M“”” I

el ‘ | ij |

2) R : ot LI T
~3) T | i il il ‘”‘:m !
e O R

il ‘H“ it
None of those given as optmhs i ol | il | ‘\\
i 1“ |

e |
Q.22 Which of the follawmp combmations; is definitely correct? W

un
S

1) Vand Urdu |
2) U and Gujarati ! .‘ L (R AT R i I |
AR o

te subject and the standard in which he studies?

R R R I I A B BN ]
B A A A A AR I LY i e g v A S AP T

P )

PR T O T R
D A i

v o

W -




:3,,\' AR AR A A A A AR A A R A AR AR A AL ’x,xﬂ‘., f‘ﬂf“ T"“wly‘" e »\N\‘m‘k u% i "“HT: AAARSLAAANARRA XYL AR AR .:*.
» Il | D
i 3) Rand Punjabi Il \““1 i i ‘JM | 1
3 4) Qand Audit Ll
o 5) Tand Chemistry | ‘%‘ 1‘”‘;‘ | 3
i | il I AT ‘ ‘ )
‘ Q.23  Which of the following subjects ddéélU like? ‘1 11; i ;; 111
3 1) Punjabi I i1 I 5
N -2) Urdu | I )
. 3) Audit i I I 3
s 4) Biology | i 2
i 5) Chemlstry | } 3
: I I I LR 2
3 Solut:on' | N | ; |
o, v | n };‘ 0 | i
u{Frlend ‘ Clgss | Subject n e
N P 10t Y Law i o ;i ¢
3 Q 12 Gujarati Wil il %
2 R 10t Punjabi W il =
" s 1/ L wChemistry. b “
T ik B I i S
: H 1" Urdu | ‘l | b
: v 12 Biology i | |
E I %} 1 -~
E Q.24-28. 5tudy the information and answer these questio i
ln a certain code language- 3 il
‘business is not commerce' is coded as 'ef uy ‘a%« dn’

\
‘export and import business' is coded as, | 'ak tk fl bt' |

! ‘commerce makes only part' is coded as, np vx by gl

; ‘export makes import business' is coded as, ‘\"tht tk ak phb
W TR
: (Note: all the given codes are two letter cocILJQnIy) R

M A L O < L G S
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Q.24

2)
3)
4)

33)

Q.25

A £ T L LR T M R PR L) ¥ A=A U P Dt L/ | AP i o L O L BT B L L
Wil O .u‘.ra‘o‘,f.",a".a‘u‘.x‘.r‘.—‘.a“././JJU‘././.J’."./‘-’.-'.IJ‘./.&‘/JJ.{‘

‘commerce makes only part' is coded as, 'np vx uy gb' ‘\‘ i
‘export makes import business' is coued as, 'bt tk ak gb' :1 ‘l“;‘ hi
(Note: all the given codes are two letter codes only) N | e

1)

| “1‘ IRl ik
AN M=
What is the code for' commerce in the gl‘ven‘ code Ianguage?\ Ll
| s [ i
\‘ ‘ ‘ i ‘ | I fl
ef ALY ‘*h n ‘

gb s AR TARR R L
ak o |
np = L ,

ak == T ‘;\: 3\;‘

_ ‘ L
either gb or ak = | |f‘ i 11‘ |
<t | e M e
np - ALY \
sither tx or bt ‘ j i \ ‘
= H “ | ‘ ;} “ | I

What may be the possmle code for 'busmess only in the giveh code anguage ?
! ! ‘ ‘ ‘ | | i ‘

ng ak | i | w‘ ; ‘ ‘h | \
ak uy _ “ i | " MM
Uy bt | 1} “1 ! | w‘:u‘ ‘ | |

np jl
None of those given| as Opl,lpl“ﬁ g i
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Q.27 What may be the possible code for ‘'makes possible' in the given code language?

1) gb wx
2) zgq gb
3) uy zg — =
4) akgh ===
5) np ak =

Q28 Whatisthe code for 'and' in the given code language?

‘53 None ofthoseglven as OptlDﬂS = f : ’1 7 = ——

Solution: ~  business is not commerce = ef uy ak dn...(l)
- egpoi'tand'importbqéihésé%aﬁftk jt )
7 _ _commerce makes only part = np vx uy gb.....(3)
== —— — export makes import business = bt tk ak gb ... (4)
- from(1)and(2) business >ak dih
——F - from {1) and (3) commerce = uy
— from (3) and (4) makes = gb
from (2) and (4) and = |l
export/import - tk/bt

Q.29-33. Study the given information and answer the following qu@stion‘s:

When a word and number arrangement machine is given an input line of words and numbers, it arranges
them following a particular rule. The following is an illustration of input and rearrangement:

(All the numbers are two digit numbers)
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Q.29-33. Study the given information and answer the following questions:

When a word and number arrangement machine is given an input line of words and numbers, it arranges

them following a particular rule. The following is an illustration of input and rearrangement:

(All the numbers are two digit numbers)

Input :

Stepl:

Stepll:
Step 11l :

Step IV:

Step V:

52 machine better 45 sale 60 82 fellow not 15
better 15 52 machine 45 séle 60 82 fellow not
feliogv.v ;15 better 15 52 machine sale 60 82 not
machine 52 fellow 45 better 15 sale 60 82 not

not 60 machine 52 fellow 45 better 15 sale 82

sale 82 not 60 machine 52 fellow 45 better 15

As per the rules followed in the above steps, find ‘DL‘I‘tj the appropriate steps for the given input.

Input :
Q.29

1)
2)

2

4)

5)

65 price great 22 72 river ‘family 10 91 land
What is the position of ‘65’ with respect to ‘family’ in step V of the given input?

Fifth to the right

Sixth to the left

Third to the left

Second to the right

None of those given as options

8
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)
3
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£l
< ]
5
563
£
3
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Q.30

1)
2)
3)
4)
5)

Qa1

1)
2)
3)
2)

-

2

=

Q.32

=
N

(UN I N
L N—

4)

1)

I
|

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

Which of the following is the third element from the left end of step IV?

65 ‘ ‘.“:
great ‘Ii ii M ‘I
| A
: il |
jagd ‘ ‘ | ‘
family ‘ ‘ !

Which of the following is step 1ll of the;g‘;ijven input?

river 91 price 72 land 65 great 22 family 10
family 10 65 price great 22 72 river 91 land
land 65 great 22 family 10 price 72 river 91
great 22 family 10 65 price 72 river 91 land
price 72 land 65 great 22 family 10 river 9‘1;‘@‘

What is the position of '65' from the right endinthellstep? I
Fifth R |

Sixth |
Seventh ”
Eighth N
Ninth

Which element is third to the right of '‘family" in Step 17

river

e s e e ™
o

3

)

N
23
ik
,

;

i




Q.33 Which element is third to the n‘ng;"(ﬂr zhL‘n {y in Step lli?

1) river i ‘M‘ \\\ﬂ\'

2) 72 ‘} | I ] ‘ ” \‘ ‘ ‘ ‘
3) great d \‘
4) 65 T
5) 22 | i “\

Solution: I
‘ ﬂ ‘ ‘
Input : 65 price great 22 72 rlver fam||ly 10 91 land

H
Step | : family 10 65 prlce great 22 72 rlver “9‘1 ‘Iand ‘V“
‘ | \

Step Il : great 22 famlly 10 ‘65 Prrce 72 nver 91 land

\ 1
Wl
Step lll : land 65 great 22 famlly 10 prlce 72 r|{|fer 191

\ I i‘ W \ 1
StepV river 91 price 72 Iand 65 gre‘a‘t 22 famlly 10

Step IV:price 72 land 65 great 22 famll\/ 10 river 91 i

R I T R R
[ I R

o -

AR
e o dede e
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Q.34-38. Study the following information and answer the questions given below:

Eight people-P, Q, R, S, U, V, W and X are sitting around a circular table facing the centre. Each of them is of
a different profession- Accountant, Teacher, Doctor, Engineer, Banker, Lawyer, Professor and Architect. Q is
sitting second to the left of V. The Architect is an immediate neighbour of V. There are only three people
between the Architect and P. The engineer is sitting second to the left of P. The Teacher is to the immediate
right of the Engineer. X is second to the right of V. S is the Architect. R and U are immediate neighbours of
each other. Neither R nor U is an Engineer. The Banker is to the immediate left of Q. The Lawyer is second to
the right of the Teacher. The Professor is an immediate neighbour of the Engineer. R is second to the right of

the Accountant. |, | = =

Q.34  Who is sitting second to the right of P? =
1) The Lawyer — = ——
2) R = - = :
~3) The Engineer = = = ——
4) a ' : — ,

Q.35 Who amongst the following is the Professor?

1) Q
2) W
3) X

Q.36  Four of the following five are alike in a certain way based on the given arrangement and hence form
a group. Which of the following does not belong to that group?

1) Accountant-5
2) X-Doctor

31 ! = o P b 2 e g
3 U~ Enpinee

4) Banker - W

Foaw o

AR A

il L e R VO
ot 0 ot 0 e O o R OO e Ve R B R LI ST R B S I I

el el
Al

il el e
oot el g

A Ak
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5)
Q.36

u

Four of the following five are alike in a certain way based on the given arrangement and hence form

a group. Which of the following does not‘belop'g to that group?

1)
2)
3)
4)
5)
Q.37

1)
2)
3)
)
5)

Q.38
1)
o
4)
5)

Accountant=-$
X = Doctor

U - Engineer
Banker =W
Lawyer=V

What is the position of W with respect to the Architect?

Third to the left
Second to the right
Second to the left
Third to the right
Immediate right

Which of the following statements is true accdrding to the given arrangement?

r,

The Lawyer is second to the left of the Doctor

P is an immediate neighbour of the Banker

S sits exactly between Q and the Banker

Only four people sit between the Teacher and Q. (eithera'fmm left or right)
All of the given statements are true

10




Solution:

Ve

p Teacher '
1 w
i;ﬁ\ccounfcan‘c Engineer
! Law‘;/er Professor
R S
Banker | Architect
Q
Doctor

bt

Q.39-43. Study the following information carefully and answer these questions.

A, B, C, D, E and F are six people each of them has a different height. E is taller than only A. B is taller than D
and A. D is taller than F. B is not the tallest. As many people are taller than D as are shorter than F.

Q.39 How many of them are taller than D?

1) One
2 Twe
3) Three

4) Four , -
51 Nane of thnse given.as ootinns —
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~Q.39-43.Study the following Information caretully and answer these questions, -

A,B,C, D, Eand F are six people each of them has a different height. E is taller than only A. B is taller than D
and A. D is taller than F. B is not the tallest. As many people are taller than D as are shorter than F.

Q.39

1)
2)
3)
4)
g

Qv4 O

1)

. 2)
3)

4)

5)

Q.41

N
2)

3)

5)
Q.42

1)

2)

4)

How many of them are taller than D?

One

Two

Three

Four o

None of those given as options

How many of them are shorter than B?

One
Two
Three
Four
Five

Who among them is tallest ?

s M o ™

s

None of those given as options

Who among them is third from top if arranged in descending order of height?

B
F

e R e



= it | %
X Q42  Who among them is third from tﬁp i# arran ge? ind F thder; order bfhelght? 3
3 “ 11 A -
" 1) B I ‘ H”H i h 3
& i \I L | e,
» | [ i
R 3 ; i i il “ | i |\ flf ®
N i | \“ ) ‘ ﬁ
N 4) E | '} “ Il “H‘ H ;
0 | U L 5
N I \‘ ‘H‘ H ‘ ‘ P.:{ U w H‘ ‘\ ‘U .
::3 i H\\ ‘\I\‘ 6

R R R AR A o A A At 1
L T VA VA LV V2 WIS O WAL PV YR

%

iy

rrrrrrrrrrrrrrrrrrrrrrrrrrr

UHM
‘ H\“ rl‘ !
Hu { \“

ol w
\

‘M‘
4 l‘ ‘ H\ |

5) Noneofthose‘given asobhons \“
U

M? \‘ ;
Q.43 Who among them is 5ma1lesth?ﬂ ‘U w‘\ |
| ‘
h

{ “
1) F g ' U U‘“ PN
‘ I \ I
2HE ‘\' i i
. 3) A M Il | \ o
- 4) B | H‘ ‘ ”\‘H 1 ‘\ I “\“ U\! ““
5) None of thosegiyen‘m dptiipn i | ‘\\‘ “ ‘\‘H ‘\1*"“‘ ” rg\” |
I i | ‘ "\‘ | ‘ I 1l
Solution: H’ ‘ 1 ‘\‘ ‘\ w\\ \‘\ | - ‘d‘ ‘ ii“‘ 1\ |
c 8 o Vel Wl o i ‘ '} ‘l‘ww |
3 2 a4 el U ”

Q.44 Mohan cycles 3 km towards the east and takes the first ripght ’lmnﬁ and eycles for anather 5 km to
point A, From point A he takes I1:i1+rt‘.!‘ftuj;r‘n and cyeles 7 km to point 8, pfiercovering another 4 km he rests for

a while. How much distance has Mohan covered fram point A till the time he stops?




Q.44 Mohan cycles 3 km towards the east and takes the first r‘ight tur‘n“and cycles for another 5 km to
point A. From point A he takes a left turn and cycles 7 km to point B, after qbVermg another 4 km he rests for
a while. How much distance has Mohan covered from point A till the turﬂe hfz stopﬂ?

1) 16km i
2) 11km _ |
3) 19km
4) 15km
5) 8km

Solution:

Start  3KM. - - SREd |

Lz il kg
Alw L = {18 : Stops

Hence, required distance=7 +4 = 11 KM | ‘:‘ i

Q 45  How many such pairs of Ietters are there |n the word BRILLIANT each of which has as many letters

between them in the word (in both forward and backward directions) as they have between them in the
English alphabetical order ? ;

1) None

2) One

3) Two

4) Three

5) More than three

Solution:

B R T R O e
B R
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3 Solution:

T R L P R R

i
|
e aiwia
LI U L L RS AP L R i e N O )

"

l
/

Il

12 =

= E
. =

S

- 2 - =2
e N W e

N

T TR
o e e T e e e e e N S N N N e

S L N b TS R S
e e o e e e e e e N o S o e e e N N e N T
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Q.46 If each of the vowels in the word FINANCIAL is changed to the next letter in the English alphabetical
order and each consonant is changed to the previous letter in the English alphabetical order, and then delete o

the alphabets that appear more than once after performing the said operations. How many alphabets will be
left after performing all the operations?

1) None

2) One

3) Two

4) Three

: 5) More than three

Solutions:




S

Z) Three
5) More than three

Solutions:

T N A N-TU =1 A [
FE- I M B M 8 |- B K
Hence alphabets E & Kremains

~ Q.47 [Ifitis possible to make only one meanmgfui four letter English word using the second, third, seventh
~ and eighth letters (from left) of the word RECOGNIZE, which of the fol llowing would be the second letter of

that word from the left end? If no such word can be made gwe X’ as ycur answer and if more than one such
word can be formed, give your answer as 'Z'. : ==
3) ' = = e —

=3
=

5)

Y

L' §

Solution:
RELOGNIZE
Hénce, No word can be formed fromE,C,1 & Z

Q.48-49. The following questions are based on the five three dii;it numbers given below:
956 597 712 639 164

Q.48 if all the numbers are arranged in ascending order from left to right, which of the following will be
the second number from the right end?

1) 597
3) 639
4) 956
5) 164

- [




Q.48-49. The following questions are based on the five three digit numbers given below: it ,
956 597 712 639 164 g
Q.48 If all the numbers are arranged in ascendlng order from left to right, which of the following will be ‘ 1‘:
the second number from the right end? i *:
1) 597 ‘ g Wl
2) 712 ! A et B
4) 956 U e
i s) el i) | AT e 0 S ol
Explanatlon:‘ 164 397 B39l "2,  "B56 A L «f
Q.49 Ifall the dlglts in each of the numbers are arranged in descending order wnthin the number whlch Of :\]3
the following W|ll form the third lowest number in the new arrangement of numbers? o e et o oy
A0 859 G H“ ‘ E
L2y 712 ‘ AT AN s
3) 639 TR Y e e
4) 956 ‘ L et
5) 164
Explanation: 965 975 721 963 641
13
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Q.50 For understanding the concept of the followmg tVPES Of queStlons : \f

Tl il
Assumptions: ‘ A mw

L i | ! |
An assumption is somethmg “supposed”. For exar‘n;‘)‘luej””‘””Unles;s you catch a bus, you will not be able to reach
the railway station on time”. In this statement it is egsumed that (i) thereis a bus servrce available to railway
station, (2) the bus will be available to reach you to the rarlway station before your scheduled time (3) the
bus will be a faster mode of travel that the one which ‘ynu were intending to follow. All these three
assumptions are rmphed in the above statement There could be some more assumptrons also. This
explanation is given to clearly bring home the point "what assumptron means”. Read the following

instructions and example of the type of questrons wh:ch‘ are mcluded in the test.

Instructions: Given below is a statement foilowed by two assumptlons numbered | & Il. You have to consider
the statement and the following assumptlons and decrde Whlch of the assumptions is/are implicit in the

statement. . Nym‘ er

e il il | |
Give answer (1) if only assumption I is rmplrcnt glve answer (2) rf only assumptron II is implicit; give answer
{3} if either assumption lor [l is m‘nphcrt give answer (4) ‘|f ne:ther I'nor, Ilis lmphcrt, give answer (5] if both

the assumptions I and Il are implicit. T T e, T Rl T

Statement: Go by aeroplane to reach Bengaluru frmm Mumban qumkly

Assumption I: Mumbai and Bengalum are cnnnnrsted bv aeroplane JEI wce

Assumption Il: There is no other means caf [;om[, from Mumbai tn Br*nr; lruru

Itis clear that only assumption | is umphm in the ﬁ.tatement and msumptinn ILis NOT implicit in the statement.
In fact the statement implies that | there are other means to reach t}ong‘,t.‘rlnrn from Mumbai but they take
longer than by aeroplane. The answer, therefore, is (1) Le. anly assumption Lis implicit.

“““ MhbwhbbuwquvMV%MNMvw&%%%M%%vvw%uumvuMvaaw4blgbuwwu4vh;whuvw%zv
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